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LOI MO PAU

IELTS WRITING TASK 2 - 2016 REVIEW
bao gom 36 bai miu band 8 cho tit ci cac chu dé
xudt hién vao nim 2016 nham giGp cac si tu
IELTS c6 cai nhin tong quat va thyc t& vé do kho
ctia bai thi viét task 2 ciing nhu xu huéng ra d&
thi viét IELTS. Cubn Review 1a mot ngudn déng
tin cdy va hitu ich danh cho nguoi hoc IELTS,
v6i cha bién 1a thiy Toan ZIM - Giam Pbc Hoc
Thuat Anh Ngit ZIM cung cac giang vién chuyén
mon tai ZIM.

Sach dic biét phu hop va phat huy tic dung tot
nhat dbi voi nguoi sir dung c6 kién thirc nén viing
chéc vé tiéng Anh ciing nhu vé IELTS Writing.

Sach c6 thé duge sir dung lam nguén hoc liéu
tham khao cho cac thay c6 hodc trung tim luyén

thi IELTS khac. Khi sir dung rat mong céc thay
¢6 va trung tAm vui 1ong dan ngudn.

ZIM IELTS INSTITUTE
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Nguyén Anh Toan ( Toan ZIM)

Giam DPbc Hoc Thuat — Anh Ngit ZIM

IELTS 8.5 — 8.5 Writing

Thay la mot trong nhitng g vién tiéu biéu Quy
1,2/2016 cua chuong trinh Writers of the Future
(WOTF) - cudc thi viét truyén ngan vé khoa hoc
vién tudng uy tin tai My do L.Ron Hubbard
sang lap tir thap nién 80. Cudce thi duoc t6 churc

hang ndm nham tim ki€ém nhirng tai nang nd1 bat
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HUONG DAN SU DUNG TAI LIEU

NGHIEN CUU BAI MAU - CAU TRUC CAU, DOAN.
TU VUNG VA CUM TU VUNG

THUC HANH VIET BAI - AP DUNG CAC
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Review vé cac chii dé trong nim 2016

Trong 35 chu d& ra vao nam 2016 nay c6 du 5 dang essay: Opinion, Discussion, Advantage &
Disadvantage, Cause & Solution va Direct-Question.

Opinion: 14

Discussion: 5

Advantage & Disadvantage: 4
Cause & Solution: 6
Direct-Question: ra 6

Direct-Question

VAT

Opinion.

Discussion.

Nhu thdng ké & trén c6 thé thdy dang dé duoc ra nhiéu nhat 2016 1a Opinion. D¢ kho cia dé
thi khong gidng nhau qua cac thang trong nam:

Dé kho roi vao cac thang 2,3,4,7 va 8.
Thang 11 va 12 dé dé thé nhét. Didu nay hdu nhu xay ra & vai nim tro lai day nén co

thé dén nam 2017 van nhu véy.

Vé xu hudng ra dé, hién tai nhiéu dé viét IELTS tap trung vao nhitng mfmg rat nho cua doi séng

nhu: “tai sao con nguwoi lai phi pham mot luong Iom thire an” hay “tai sao bdy gio nguoi ta lai
chudng cach an mdc kié Tay”. Nhitng d& nhu vy doi hoi tu duy va kién thirc t6t ciing nhu von

tir kha 16n dé co thé viét tot. Xu hudng nay c6 thé van tiép tuc trong Nam 2017.
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TOPIC: 9-1-2016

It is more important for schoolchildren to
learn about local history than world
history.

To what extent to you agree or disagree?

Useful vocabulary:

1.Thorough insights into: Hiéu biét cdn ké
vé cdi gi.

2.Patriotism: Long yéu nuoc.

3.Sovereignty: Chi quyén.

4.Take pride in their origin: Ty hdo vé
long yéu nuoc.

5.Traditional values and identity: Nhitng
gid tri truyén théng va con nguoi.

6.Well-rounded perspective of life: Mot
cdi nhin quan diém toan dién hon vé
cuéc séng.

7.Historical backgrounds: Béi cdnh lich
Str.

8.Company culture:
nghiép.

Vdn hdéa doanh

O ZM

Luyén thi IELTS cam két ddu ra

Band 8 Sample
Answer

Many people have valued the role of local history to schoolchildren
over that of world history. In my opinion, I disagree with those
people as both of them are equally essential for young learners.

Studying the history of their hometown is for sure an indispensable
part of school’s curriculum during students’ early education. |
believe having thorough insights into what happened in the past at
one’s locality develops his patriotism. For example, children of
primary and secondary schools in my village are taught about how
their ancestors defended their land against outside intruders and
reclaimed sovereignty. Therefore, those young children would take
pride in their originand treasure the life they have
today. Additionally, I think it is not only students’ privilege but also
their responsibility to know about their own history to understand
their hometown’s traditional values and identity.

From another angle, learning about world history shares equal
importance just as local one. Acquiring knowledge about the
world’s past events equips students with a more well-rounded
perspective of life. Lessons about the World War or Feminism
protest against women’s abuse and discrimination would help those
learners enhance their understanding about various aspects of the
world. Furthermore, 1 think that being taught about the other
countries’ historical backgrounds would benefit young learners in
their future career. Students who accumulate knowledge of this
particular field at an early age would possess a golden selling point
to work for foreign enterprises, especially those who highly
value company culture like Japan.

In conclusion, I believe the significance of domestic and
international history cannot be brought into comparison to see which
one is more necessary because they have distinctively equal
meanings to children.

Word count: 279




TOPIC : 14-1-2016

Many museums and historical sites are
mainly visited by tourists but not local
people. Why is this the case and what can
be done to attract more local people to

visit these places ?

Useful vocabulary:

1.Tend to pay a visit to museums: C6 xu
hwéng di thdm bdo tang.

2.Visually unattractive to local residents:
Khéng thu hut duoc ddn cu dia phuong
vi bé ngodi.

3.Pick tourists’ curiosity: Ldy duoc sv to
mo tir du khdch.

4.Education and entertainment purposes:
Muc dich gido duc va gidi tri.

5.Didactic as well as recreational

competitions: Nhitng cudc thi vira gidi

tri vira mang tinh gido duc

O ZM

Luyén thi IELTS cam két dau ra

Band 8 Sample
Answer

Many museums and historical sites have become an attraction to
tourists although they fail to increase the number of local visitors.
This essay will analyze some main reasons for this as well as
measures to encourage more local people to visit such places.

The causes for a huge difference in the number of the two
mentioned types of visitors are varied. First, people who live in the
neighborhood seem to be familiar with their traditional customs and
history. Going to those places would be therefore a waste of time
and money owing to the entrance cost; and people would not pay an
amount of money to see what they have already known. Meanwhile,
tourists from other places to know
more about a new culture when travelling to a new region. Second,
the design of museums and historical sites almost remained
unchanged throughout decades, which can be

who have been there at least once in earlier years.
However, these places always during their
first trip.

Some measures can be taken to stimulate more local inhabitants to
visit museums and historical places. To begin with, those places
should serve both . More
game zones should be constructed or

should be conducted to increase the
number of the local who come enjoy their time. Furthermore, if the
layout of museums and historical sites is renovated with more
decorations and ornate designs of the interior, not only tourists but

also more local visitors will come.

In conclusion, there are two principal causes for the locals’
disinterest in spending their time in nearby museums and historical
places as mentioned, and actions should be taken to encourage
people to go to such places.

Word count: 301
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TOPIC: 23-1-2016

Although more and more people read the
news on the Internet, newspaper will
remain the most important source of news
for the majority of people.

Do you agree or disagree with that
statement?

Useful vocabulary:

1.To hold the most vital position: Giit vai
tro thiét yéu

2.To access huge storage of news: Tiép
can trir lugng théng tin lon

3.To take over the position of printed
newspaper: Chiém I@y vi tri cda bdo in

4.To unfold the possibility to upload
videos and voice records: M& ra kha
néng ddng tdi video va bédng ghi Gm

5.The most crucial source of information:
Ngudn théng tin quan trong nhét

O ZM

Luyén thi IELTS cam két dau ra

Band 8 Sample
Answer

Some people believe that despite the widespread popularity of the
online media, traditional newspaper will still hold the most vital
position among news readers. In my opinion, this idea is rather
absurd as the Internet has become increasingly dominant due to the
benefits it offers.

The first thing that attracts people to reading news on the online
sources is their easy access. With the presence of the Internet around
almost every corner of the world, people with a portable device such
as a mobile phone can access huge storage of news. In fact, latest
events, for example IS Terrorist attacks, would be updated
immediately on CNN or New York Times. By contrast, with
prolonging procedures including editing and printing, traditional
newspaper might not be able to compete with the Internet in terms
of the updating speed.

Another benefit with which the Internet can, from my point of
view, take over the position of printed newspaper is the new
experience it brings to readers. One limitation of newspaper is that it
cannot convey visual messages to the people who read news on a
regular basis. Meanwhile, non-stop progress of the technology
industry has unfolded the possibility to upload videos and voice
records on various online websites. For instance, soccer fans these
days can re-watch their favorite matches anytime they want with
only a laptop connected to the Internet, which a mere paper cannot
do.

In conclusion, I disagree that printed newspaper would continue to
be the most crucial source of information because more and more
people will be drawn to use the Internet.

Word count: 262




TOPIC: 30-1-2016

Prison is the common way in most
countries to solve the problem of crime.
However, a more effective solution is to
provide people a better education. Do you
agree or disagree?

Useful vocabulary:

1.lllegality: Hanh déng bét hop phdp

2.Social endorsement: Sy ung hd tir xé
héi

3.Eliminate the problem from its root:
Loai bé nguén géc cta van dé

4.To be of necessity: Ld mét sy cén thiét
khoéng thé thiéu (nhdn manh)

5.Social security: An ninh xd héi

6.To be imprisoned: Bj bo tu

7.Heinous actions: Hanh déng t6i dc

8.To be a deterrent against sth: La mét
réo cdn chéng lai cdi gi do

9.To be condemned to jail: Bj téng vao tu

10. To serve as a remedy for the
origin of crimes: Nhw lod mét liéu thuéc
cho ngudn géc cua téi pham

11. To heighten people’s intellect:
Ndng cao dan tri

12. A civilized society: M¢t xd hdi vdn
minh

13. Vocational training: Hoc nghé

14. To dispel any ideas of committing

crimes: Logi b6 bdat ki y dinh muén
pham toi

O ZM

Luyén thi IELTS cam két ddu ra

Band 8 Sample
Answer

Although prison sentences are commonly thought to effectively
control illegalities, improvements on education have gained social
endorsement as a means to eliminate the problem from its
root. In my opinion, I disagree that education is the better one as it
is rather impossible to compare these two methods’ effectiveness
owing to their distinct impacts.

On the one hand, the reasons why prisons are of necessity for social
security are varied. They are the place to keep people who have
broken the law contained, ensuring the safety of other citizens.
Especially, dangerous criminals such as murderers or rapists have
to be imprisoned for their heinous actions. Furthermore, severe
prison sentences act as a deterrent against crimes. Knowing there
might be a chance of condemned to jail, which also means
losing freedom and living a miserable life in a cell, ones who are
having the intention of committing illegalities would reconsider
going down the path.

On the other hand, education serves as a remedy for the origin of
crimes. Education contributes greatly to heighten people’s intellect
and to form a civilized society. With access to better educational
services, citizens would be well-informed about the damage that
committing crimes would cause to their community and themselves,
which eventually leads to the decline in crime rates. Additionally,
the possession of certain qualifications through fundamental
education like vocational training could secure a person’s stable
life, which would dispel any ideas of committing crimes.

In conclusion, I believe there is no absolute way to deduce whether
imprisonment policies or better education would take the dominant
role in dealing with crimes as they both tackle the problem just in
different ways.

Word count: 275 words




TOPIC: 18-2-2016

New technologies have changed the way
children spend their free time.

Do advantages of this
disadvantages?

Useful vocabulary:

outweigh

1.Satisfy children of different preferences
for entertainment: Théa mén tré em vdi
nhiing sé thich gidi tri khdc nhau

2.Develop a passive lifestyle: Phdt trién
16i s6ng thu déng

3.If exposed frequently: Néu tiép xic
thuong xuyén

4.Exposure to technology could lead to
deterioration in health: su tiép xic vdi
céng nghé cé thé dan dén tinh trang strc

khéde bj gidm sut

O ZM

Luyén thi IELTS cam két dau ra

Band 8 Sample
Answer

The advent of new technologies has led to changes in young
children’s recreational activities. In my view, the drawbacks of
those changes are more significant than the benefits.

On the one hand, the appearance of new devices has brought certain
values to children. First, more choices are now available on
computers or any other electrical devices that are connected to the
Internet. This would

, such as watching movies, listening to music or
playing games on online platform. Second, some useful skills and
necessary qualities can be either initially obtained or horned by
playing electronic games. Scientifically, racing games help develop
motor skills in later life. Also, creativity and fast reflexes which are
of great use in the future can be enhanced though puzzle or shooting
games.

Despite those said advantages, I still believe that the downside of the
emergence of modern technological devices in children’s leisure
time is more worrying. The first drawback is that children might
and possibly isolate themselves from
society. This is because this way of entertainment is extremely
addictive, and children therefore are likely to spend hours in their
room without any communication with the outside world
. Furthermore,
as hours spent on using computers can
cause tremendous harm to eyesight. In fact, children at school age
are suffering from short-sight due to playing video games or
browsing Facebook for a long time.

In conclusion, it seems to me that, regarding children’s leisure
activities, the benefits of newly introduced technological devices are
eclipsed by the disadvantages.

Word count: 272




TOPIC: 20-2-2016

Some people believe government should
spend money on building train and subway
lines to reduce traffic congestion. Others
think that building more and wider roads is
the better way to reduce traffic congestion.
Discuss both views and give your opinion

Useful vocabulary:

1.Tackle congested roads: Gidi quyét tdc
dwong

2.Alleviate  the current travelling
overload: Giam nhe tinh trang qud tai

3.Relieves the density of passengers on
public vehicles: Gidm thiéu sw déng duc
cua hanh khdc trén nhitng phuong tién
céng céng

4.Exceeds the capacity of the current
system: Vuwot qud khd ndng cda hé
théng hién tai

5.The enhancement of living standards:
Sw tdng Ién vé murc séng

O ZM

Luyén thi IELTS cam két dau ra

Band 8 Sample
Answer

Opinions diverge greatly on how to tackle traffic congestion.
Although constructing more railways and subway lines partly solves
the problem, I would argue that the government should allocate their
financial resources to widen roads.

On the one hand, I understand why some people think that having
more train and subway lines built could
First, this mode of transportation would a
because it decrease the increased number of

daily travelers on main streets in either city centers or suburbs.
There would be less people on street during rush hours because
trains or subways are able to carry hundreds of passengers at the
same time. Second, rail transportation systems are established
separately from other systems or, sometimes, outside crowded city
areas, and this

, hence reducing congestions caused by those means of
transportation.

On the other hand, I would side with those who think that the
mentioned investment on railroads or subway lines is only
temporary and less effective than improving the size of roads and
streets. Traffic jam is attributable to the density of vehicles that
. Increasing the size of
roads would allow a higher volume of traffic and enable more
vehicles, such as private cars or buses, to circulate smoothly. Also,
expanding roads, although expensive and time-consuming, is
believed to be a permanent solution to the situation of traffic jam.
Private car owners are increasing in numbers owing to
, and they are unlikely to resort to
trains or subways since using their own cars is much more
convenient. Therefore, better railway systems only encourage a part
of citizens to use this type of public transport.

In conclusion, it appears to me state money should go to the
expansion of road systems, while it is difficult to deny some
provisional change brought by railroads or subway lines.

Word count: 322
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Band 8 Sample

Answer

There is a growing number of young people from rich countries
coming to less developed countries to participate in voluntary
projects. There are some underlying reasons for this, and both
volunteers and the community gain equal benefits.

TOPIC: 27-2-2016

The phenomenon can be attributable to two principal factors. First,
More and more young people from

wealthy countries are spending a short )
time doing unpaid work such as teaching ~ bring about . For example,

or building houses for communities in  when young people from wealthy nations visit underprivileged
poorer countries.

short trips to less developed nations to aid the local communities

regions in Vietnam such as Quang Binh province, they can
Why young people choose to do so? Who
will benefit more: young people or the
communities?

Useful vocabulary:

the misery and hardship of the
impoverished. This therefore
. Second, this situation is linked to the fact that young
people want their resume to be polished by getting involved in
social activities such as teaching or providing accommodation for
the poor.

1.A great deal of rewarding experience:

c6 nhiéu kinh nghiém quy bdu

) ~ Not only people who travel to third world countries to do voluntary
2.Have profound understanding of: C6

work but also the local community benefit from this particular
T BT G D G2 G practice. Obtaining new experiences and possessing a clear

3.Fosters a great sense of humanity and  advantage in applying for jobs, those people are more likely to
ATt P @ i R G GO develop spiritually and to succeed in future career. On the other

I i hand, the local community can have a chance to
ong vij tha . .

, even though the impact of such a practice can be
4.Heighten social living standards: Ndng  relatively small and, in most cases, temporary.

cao murc séng xé héi . .
e In conclusion, the young from first world countries move to

underdeveloped ones to do unpaid work in order to gain new
experience and enhance future employment. It seems that both
volunteers and the area that receives help can gain some certain
values.

Word count: 263




TOPIC: 5-3-2016

In recent years, the structure of a family
and the role of its members are gradually
changing.

What kinds of changes can occur? Do you
think these changes are positive and
negative?

Useful vocabulary:

1.Nuclear family: gia dinh co bén gém cé
bé me va con cdi

2.Breadwinner: try c¢t gia dinh

3.Single-earner family: gia dinh chi cé
mot tru cot

4.Spouse: ngudi chbng hodc vor

5.A stay-at-home parent: b6 hodc me &
nha dé chdm sdc con cdi va lam viéc nha

6.At liberty to do sth: c6 thé ty do lam gi
do

ZIM

Luyén thi IELTS cam két dau ra

&

Band 8 Sample
Answer

In the past few decades, the patterns of a family have greatly
diversified. There are some changes regarding its organization and
members’ role; and in my opinion, these changes can be seen as a
progress.

Families at present have undergone two main differences compared
to the past. First, a nuclear family now can have more than
one breadwinner who normally is the father. This is because in the
modern world, only a few jobs could secure the stability of

, which forces both parents to be the financial
supporters. Second, the trend that parents exchange their roles has
become more common. As the result of women’s protest for their
rights, mothers now have equal opportunities for education and
work, which allows the other spouse to assume responsibility as a
stay-at-home parentto take care of the children and the
housework.

From my perspective, those changes in a family’s structure and
parental roles are positive for a number of reasons. That both parents
can become the breadwinners would ensure that the family can be
more financially stable. This not only directly eases the burden that
the father have to bear in order to support the whole family but also
enables the mother to pursue her dream job. From another angle, it
is an upward step that people are what they like and
what they are good at. Women can follow their dream and become
the main earner if they are better at work than their husbands.

In conclusion, I think the changes occurring to a family’s hierarchy
and members’ responsibilities are a positive step toward a better
world.

Word count: 272




TOPIC: 12-3-2016

Some believe that it is good for a country’s
culture to import films and TV
programmes, while others think it is better
for a country to have their own films and
TV programmes.

Discuss both views and give your own
opinion

Useful vocabulary:

1.Telecasts: Chuong trinh TV

2.Cultural diversity: sy da dang vdan hoa

3.Depraved customs: hu tuc

4.Cultural assimilation: sv hoa tan van
héa

5.Exotic practices: tuc Ié xa lg

6.Long-standing ethics: chuén muc dao
durc ldu doi

O ZM

Luyén thi IELTS cam két ddu ra

Band 8 Sample
Answer

There has been a difference of opinion regarding the merits of
foreign movies and TV channels to the culture of a country as
people believe domestic products would be better. From my
perspective, both of those categories are equally important.

On the one hand, people usually believe foreign films
and telecasts can contribute to the cultural diversity of a
nation. Fascinating social norms and practices, such as public
hugging which is common in the US, can be imported to other
nations as  Hollywood blockbusters are ~ becoming  more
popular. This phenomenon is believed to benefit the richness of the
host country’s traditional backgrounds. Furthermore, the import of
international movies and TV shows could improve the country’s
sets of beliefs. In Vietnam, for example, the ceremony of funerals is
often perpetuated  with ongoing depraved  customs such  as
gambling and drinking. Since the arrival of TV shows from more
developed nations, which triggers a new and civilized way of
thinking, such practices have been gradually aborted.

On the other hand, it appears to me that producing local movies and
TV programs has the same importance. Citizens of a country would
be able to acquire knowledge about their own culture. Apparently,
profound insights into traditional values can be vividly conveyed in
cinemas and in the media if the content is made by local people. The
second point is that this way can relieve the worry of cultural
assimilation which has emerged as a detriment to the existence of a
country’s traditional beliefs and customs.In fact, if exotic
practices are absorbed thoughtlessly, it might lead to the oblivion of
the long-standing ethics.

In conclusion, I would argue that both types of films and TV
telecasts play an equal role in a country’s culture.

Word count: 289




TOPIC: 19-3-2016

People in community now could buy
cheaper consumer goods.

Do the advantages outweigh the
disadvantages?

Useful vocabulary:

1.Affordable commodities: mdt hang gia
ré

2.Purchasing power: st'c mua

3.The market’s demand: nhu céu cua thj
trwong

4.Commodities’ exorbitant price: gid cd
ddt dé cha hang héa

5.Quality products: hang chét lwong

6.Toxic waste and exhaust: chdt khi théi

déc hai

O ZM

Luyén thi IELTS cam két ddu ra

Band 8 Sample
Answer

These days, buyers havea wider range of choices for
more affordable commodities. Although some benefits can be seen
from the phenomenon, the drawbacks are more significant.

The provision of  cheaper goods presents several
advantages. Regarding economical merits for individuals,
customers now can enjoy inexpensive purchases of diverse types of
goods, which is particularly favorable for the households with
limited incomes. In comparison with the past in Vietnam, most
families could not be able to buy a TV; however, TV is among the
most common electronic devices in every household owing to
reduced prices. On the societal level, the affordability of consumer
products promotes people’s purchasing power, hence the
development of the economy. It is common knowledge that
the market’s demand for products increases when commodities’
exorbitant prices are reduced. Therefore, people will be attracted to
buying these products on a large scale, fostering the general
prosperity of a country’s economy.

However, those advantages above still cannot overshadow the
disadvantages. First, the quality of commodities might be only
secondary when profit is primary for businesses because goods’
prices are inexpensive and the quantity needed is enormous. In the
long term, without quality products, customers will gradually lose
their  trust in  those products’ manufacturers, which
directly jeopardizes the economy. Another repercussion worth
mentioning is that the environment may suffer. In order to meet the
increased demand from buyers, companies have to expand
their factories and accelerate their production process. Such
expansion would do grave harm to the surrounding due to their toxic
waste and exhaust.

In conclusion, the benefits of cheapening modern goods should not
be overrated as the disadvantages are greater.

Word count: 271




TOPIC: 2-4-2016

It is impossible to help all people in the
world, so governments should focus on
people in their own countries.

To what extent do you agree or disagree?

Useful vocabulary:

1.International aids to deprived regions:
Hb tro quéc té dén nhiing viing nghéo
kho

2.The underprivileged: Nguoi ngheo,
ngudi bat hanh

3.The well-being of their citizens: Su sung
tic cta céng dén

4.Any acts of global assistance: Bt ki
hanh déng tro gitip quéc té nao

5.Underdeveloped countries:  Nhiing
nwdc kém phdt trién

6.Domestic poverty: DOi nghéo trong
nuwdc

7.Affluent nations: Nhirng nudc giau co

O ZM

Luyén thi IELTS cam két dau ra

Band 8 Sample
Answer

The question whether governments should provide aids
internationally or domestically has drawn much attention from the
public. Although I understand why helping everyone in the
world is unachievable, I strongly disagree that governmental
support should solely be concentrated on satisfying local needs.

On the one hand, I suppose the world’s leaders’ hesitation over the
provision of international aids to deprived regions is legitimate.
Firstly, it is unfeasible for governments’ support to reach all of
the underprivileged as their number is enormous in many separated
places around the globe and the type of support they need also
varies. For example, developed nations may encounter numerous
obstacles in terms of transportation when sending food and
medicines to poor regions in Africa where people are facing the
threat of famine or contagions. Secondly, I believe leaders of a
country should prioritize the well-being of their citizens and
stabilize their economy and politics before carrying out any acts of
global assistance.

On the other hand, I still believe governments should help as
many people as they can regardless of the fragile possibility
for worldwide comprehensive support for all people. To begin
with, in many underdeveloped countries, their leaders are unable
to bear the burden of eradicating domestic poverty or crises due to,
for example, terrorism, which calls for the involvement from
other affluent nations. Also of great significance is that this
national act of charity could have a huge impact on individuals
living in prosperous areas. If the government take actions to help
people overseas, citizens of that country will idolize the idea of self-
devotion toward a better world.

In conclusion, I truly believe the world leaders should lend their
neighbors a hand to offer help to people in need on their
doorstep.

Word count: 289




TOPIC: 16-4-2016

Topic: In the future, it seems more difficult
to live on the Earth. Some people think
more money should be spent on
researching other planet to live, such as
Mars.

To what extent do you agree or disagree?

Useful vocabulary:

1.Universe study: nghién ctru vi tru

2.A new habitable environment: méi
trurong cd thé sinh séng

3.The increasingly harsh living
conditions: diéu kién séng ngay cang
khdc nghiét

4.The population explosion: Biing né dan
s6

5.Space studies: Nghién curu khéng gian

6.The lack of land and accommodation:
thiéu hut ddt dai va ché &

7.Rate of birth: ti ¢ sinh

8.Densely populated cities: thanh phé
mét dé dén sé cao

9.Depletion of natural resources: can kiét
tai nguyén thién nhién

10. Fossil fuel and water reservoir: bé

chira nuoc va nguyén liéu hoa thach

11. Over-exploited: khai thdc qud da
12, Sustaining life: duy tri s’ séng
13. The survival of the human race:

sw séng con cda lodi nguoi

ZIM

Luyén thi IELTS cam két dau ra

&

Band 8 Sample
Answer

Many people believe more financial resources should be allocated

to in order to discover
for humans due to
on Earth. In my opinion, this idea is completely
justifiable.

is the first urgent matter that urges
. The world is facing the threat from
for the ever-increasing
. Especially in like Hanoi, it is a
common picture of people struggling to find an apartment. This
forces humans to resort to alternatives of changing living places to
other planets. Such an idea would not be actualized without enough
money to employ scientists or establish research facilities,
emphasizing the demand for sponsorships.

results from

Another thing which justifies the budget spent on discovering a new
suitable home for human beings is the
such as fuel and water. Unfortunately,

are being for short-term benefits. In
the long term, essential elements for will dwindle
away, and human life will be put at stake since there is no fuel to
maintain production or transportation. Therefore, if there is even a
fragile hope to discover a new environment, people should value the
opportunity and invest money in researches on the space to
ensure

In conclusion, I strongly suppose that financial investments on
discovering another planet as a new home to replace the Earth are
reasonable.

Word count: 252




TOPIC: 21-4-2016

Nowadays, more and more older people
who need employment compete with the
younger people for the same jobs.

What problems this causes? What are
solutions?

Useful vocabulary:

1.Accumulated more experience: Tich Iy
nhiéu kinh nghiém hon

2.Social unrest and crime escalation: Bat
6n xd héi va leo thang téi pham

3.Great versatility and creativity: s linh
hoat Ion va tinh séng tao

4.0ld-age pensions and medical care:
Lwong huwu va chdm séc y té

5.Retirement age: Tudi nghi huu

O ZM

Luyén thi IELTS cam két ddu ra

Band 8 Sample
Answer

The job market has become more competitive as more older people
start to apply for the same positions as younger people. This
phenomenon leads to several severe problems, and some feasible
solutions would be analyzed in the essay below.

There are a number of negative outcomes from such a competition
between young and old job applicants. First, young people have to
compete with older people who have
, which means that young people might fail to find work.
This, consequently, heightens unemployment rates, causing
. Second, if old job seekers cannot
compete with young people in certain fields that require
like sales or marketing, they might not
get a job. Without adequate financial means to support their family
and themselves, elderly people might have to live in poverty.

The government should take some immediate actions to mitigate
this situation. New policies should be established in order to provide
old people with sufficient social benefits,

included, so that they can live comfortably when they
retire. Another effective solution is to fix over
which no one is by law employed by any institutions or companies.
This will reduce the level of competition for the same jobs between
the young and the old and empower young people to increase their
chances of getting their wanted positions.

In conclusion, the mentioned competition could produce undesirable
issues to both old and young job applicants, and the government
certainly play a tremendous role in tackling those problems.

Word count: 258




TOPIC: 7-5-2016

Some people choose to have their first
child at an older age.

What are the reasons? Do advantages
outweigh disadvantages?

Useful vocabulary:

1.To delay childbirth: Tri hodn sinh con

2.The propensity for prioritizing their
careers over taking parental roles: xu
hwdng coi trong nghé nghiép trudc khi
co con

3.Adopted a fear of taking unwanted
custody: C6 nbi so phéi nudi con khéng
mong muén sau khi li hén

4.Marital harmony: Sy hoa thudn trong
hén nhén

5.The possibility of infertility: Kha nédng
vo sinh

6.The occupational prioritization and the
hesitation over the likelihood of single-
parent responsibility: Sy coi trong nghé
nghiép va sw ddn do trudc khd ndng
phdi nhan trdch nhiém cda bé/me déc
thdn

O ZM

Luyén thi IELTS cam két dau ra

Band 8 Sample
Answer

There is a growing proportion of the world’s population who decide
to have children later in life. The underlying reasons for this trend
are varied, and I suppose that the merits would eclipse the
downsides.

There are two main factors leading to the decision of delaying
childbirth. The first one is because people have the propensity for
prioritizing their careers over taking parental roles. Especially in
the US and other developed countries, not only men but also women
want to stabilize their finance before becoming parents so as to
provide their kids with sufficient living condition for their future
development. Another explanation for this is that many modern
individuals have adopted a fear of taking unwanted custody due
to the recent alarming rate of divorce. It is because premature
marriages have become common, which usually goes with many
couples’ doubt of their marital harmony, deterring their early
desire for raising a child. There would be, consequently, fewer kids
growing up without fatherhood or motherhood.

However, the drawbacks should not be overlooked. That too many
couples following such a trend might exert adverse effects on the
population structure, which potentially results in the future aging
workforce and hinders social development in the long
term. Additionally, it could both heighten the possibility of
infertility among mothers at their old age and risk the new-born
babies’ mental and physical health. Down syndrome could be a
typical example of the problems that those kids might have to suffer
from.

In conclusion, the occupational prioritization and the hesitation over
the likelihood of single-parent responsibility could be seen as the
root of late childbirth, and I am convinced that the advantages are of
more significance.

Word count: 279




TOPIC: 19 -5 - 2016

It is observed that in many countries not
enough students are choosing to study
science subject.

What are causes? And what will be effects
on society?

Useful vocabulary:

1.Disinterest in science subjects: Khéng
htrng thu véi nhitng mén khoa hoc

2.Diligence as well as a great deal of
patience and intelligence: Sy chdm chi
ciing nhw I rdt nhiéu kién nhdn va sy
théng minh

3.Higher level of both difficulty and
commitment: D6 khé va dé cam két cao

4.The scarcity of human resources: Thiéu
hut nguén nhén luc

5.The imbalance in future workforce: Sy
mét cén bdng lwc lwong lao déng twong
lai

6.A major human resource crisis: Khing

hodng nguén nhén lyc

ZIM

Luyén thi IELTS cam két dau ra

&

Band 8 Sample
Answer

It is true that the number of science students are becoming
inadequate in different parts of the world nowadays. The essay
below will analyze some explanations for this situation as well as its
influence on society.

There are two principal factors that contribute to the common
. First, those subjects are often

challenging and require a lot of
The number of researches that an
average Biology student has to do is more than other subjects with
, which
discourages many students from choosing science as their majors.
Second, employment opportunities in this particular field are limited
and extremely competitive. Although a huge amount of time and
effort is spent on science study at school, there is still little chance
for them to get a job after graduation.
Society greatly suffers from in
science fields. Apparently, as the number of science students is
insignificant, other majors such as business or economics become
prevalent, hence . In fact,
competitiveness increased due to too many degree holders of the
same expertise pushes a worrying number of graduates to the verge
of unemployment. Another problem is the shortage of science
professionals as qualified employees are low in number. Unless
more students decided to study science at university, sooner or later

we would have to face

In conclusion, hurdles regarding some strict requirements of science
subjects and employment opportunities are factored in a lot of
students not choosing such subjects to study, and there are serious
problems arising from this situation.
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TOPIC: 21-5-2016

In developing countries, children in rural
communities have less access to education.
Some people believe that the problem can
be solved by providing more schools and
teachers, while others think that the
problem can be solved by providing
computers and Internet access.

Discuss both views and give your own
opinion.

Useful vocabulary:

1.Approach education: Tiép cén gido duc

2.Acquire a great deal of knowledge
from the online platform: Co duoc
Iwgng I6n kién thirc tiv Internet

3.An effective studying environment: Moi
truwong hoc tép hiéu qud

4.Their scholastic competence and

characteristics: Khd ndng hoc tdp va

tinh cdch

O ZM

Luyén thi IELTS cam két dau ra

Band 8 Sample
Answer

People have differing views about how to aid children in rural areas
regarding their access to education. Although the provision of
computers and the Internet can temporarily address the issue, I
would argue that the best measure is to establish new schools and
employ more teachers.

On the one hand, I understand why some people believe that
expanding the Internet network and supplying computers for
children in remote areas give them opportunities to
. Firstly, it is thought that students can

, most of which either
is free of charge or requires small fees. Educational websites, such
as Wikipedia, have been constantly established to promote distance
learning for children whose neighborhoods have few schools and
teachers. Secondly, online classes and courses are widely available
and accessible, which makes geographic adversities become rather
irrelevant. It is because students, regardless of their background or
location, can enroll in a class or course of their preference. This
would therefore aid them to access education in their remote
communities.

On the other hand, I would side with those who think that building

more schools and hiring new teachers would permanently solve the
problem. Only schools can create

for students to interact or compete with one another

and comprehensively develop

Furthermore, teachers can discover students’

weaknesses during their teaching process, hence better and more

effective educating methodologies, which leads to more fruitful

results.

In conclusion, it seems to me that it is best to construct schools and
employ teachers in rural areas, instead of depending on technology
to bring about education opportunities for children at such places.

Word count: 281




TOPIC: 28-5-2016

Nowadays young people are admiring
media and sports stars, even though they
do not set a good example.

Do you think this is a positive or negative
development?

Useful vocabulary:

1.Media and sport celebrities: Ngu'oi néi
tiéng trén truyén hinh hodc thé thao

2.Role models: Hinh twong (tam dich)

3.Famous entertainment stars: Nhitng
ngéi sao néi tiéng trong nganh gidi tri

4.Changing patterns of fashion and
behavior: Thay déi cdch dn mdc va cv
Xt

5.Show a propensity for: Coé xu huéng cho
cdi gi

6.Value the beauty and elegance of
clothes: Trdn trong vé dep va su lich lam
cua trang phuc

7.Reverence for celebrities in the field of
entertainment: Sy hdm hé nhitng nguoi
néi tiéng trong nganh gidi tri

8.Cause irritation for the locals: Gdy nén
sw kho chiu cho nguoi dia phuong

9.Sugar-coat: NGi giam

10. Idolize media and  sport

celebrated individuals: Him m¢ nhirng

cd nhén néi tiéng trén truyén hinh va

thé thao

O ZM

Luyén thi IELTS cam két dau ra

Band 8 Sample
Answer

The younger generation are having great admiration for

although they are not perfect to
follow. In my view, this could be seen as detrimental.
From one standpoint, emulating might

spark among young
adults who are not mature enough to judge what is suitable within
their society. As matter of fact, they for copying
what those stars say or do on TV, even if their actions go against the
cultural value of some localities. Regarding fashion, the way Dam
Vinh Hung, who is a renowned Vietnamese singer, dresses would be
the onset of a modern yet rather unacceptable trend of fashion with
exposed skin. Unfortunately, the young have yet to understand the
long-term shortcomings of such a trend to traditional way of
dressing which and elegance of clothes such as
the Ao Dai.

Additionally,

would possibly cause a detriment to social security
under certain circumstances. A typical example of this is the chaos
during and after Korean singers and musical bands’ show in
Vietnam a few years ago when the crowd of fans went
uncontrollable, which caused and also
danger to the fans themselves. Furthermore, if their idols were
criticized due to their scandals, they would try to the
situation or even trigger arguments. This would be really
challenging for authorities to maintain security.

In conclusion, I suppose the phenomenon that young people
who are notorious in some
aspects is negative.
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TOPIC: 4—6 -2016

It is suggested that everyone should have a
car, a TV and a fridge.

Do the advantages of this development for
society outweigh the disadvantages?

Useful vocabulary:

1.An item of some fundamental needs:
Vét dung ddp trng nhu céu co ban

2.The availability of their personal
vehicle: Su sdn cé clia phwong tién cd
nhén

3.A perfect choice of recreation: Lyra chon
gidi tri hoan hdo

4.In possession of a fridge: S& hitu mét tu
lanh

5.Private form of transport: Logi hinh di
chuyén cé nhén

6.The growth in customers’ demand: Sy
gia tdng cta nhu cdu khdch hang

O ZM

Luyén thi IELTS cam két ddu ra

Band 8 Sample
Answer

Some people believe that it is necessary for each person to
possess an item of some fundamental needs for travelling,
entertainment and food storage. Although some clear benefits of
such development could be seen, they are, in my view, eclipsed by
the considerable drawbacks.

There are several advantages of having a private car, TV and fridge.
First of all, people who need to travel on a daily basis, especially
those who live far away from workplace, could stay active all the
time thanks to the availability of their personal vehicle. Secondly,
having a TV could be a perfect choice of recreation because it
offers a variety of channels, such as Cartoon Network or HBO, to
satisfy viewers’ personal preferences. Finally, when in possession
of a fridge, people would save a significant amount of time
supposedly spent on shopping for food.

However, the disadvantages of those personal possessions are much
greater regarding both environmental and individual levels. To start
with, hypothetically if everyone had his own private form of
transport, particularly cars, the emission of harmful exhaust which
would be too difficult to measure would do grave harm to the
environment. From an individual perspective, it would cost a legacy
if every person insisted on purchasing his own fridge and TV. This
is because property prices would certainly accelerate owing to the
growth in customers’ demand for those commodities. Also of
great concern is the payment of expensive electric bills as fridges
have to be plugged in all the time.

In conclusion, despite a few beneficial aspects of having a car, a TV
and a fridge, the demerits are of greater significance from both
individual and environmental angles.
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TOPIC: 16 — 6 — 2016

Most large companies nowadays operate
multi-nationally.

To what extent multinational companies

have responsibility toward local
communities in which they operate?
Useful vocabulary:

1.Reducing unemployment and

improving standards of living: gidm
thdt nghiép va cdi thién murc séng

2.The distribution of social benefits: Phdn
phat phdc lgi xd héi

3.Take

any further obligation for

providing support for local
communities: C6 trdch nhiém bt budc
gilp d& céng déng

4.Survive in this competitive world: S6ng
s6t trong thé gidi canh tranh

5.Ameliorate local living standards: Cai

thién mirc s6ng cda ving xung quanh

O ZM

Luyén thi IELTS cam két dau ra

Band 8 Sample

Answer

These days, many major enterprises are expanding their market
overseas. Personally, I disagree that those enterprises have any
responsibility to aid local people.

Firstly, the appearance of foreign companies in numerous countries
already enhances employment in the neighborhood. For example,
when Apple established new showrooms or retail stores in Hanoi,

hundreds of local job seekers were employed,
. Furthermore,
multi-national companies contribute tremendously to local

community by paying taxes to the state through the tax system. This
amount of money will be spent on
such as medical care or education services. Therefore, it
would be unreasonable for those companies to
where
they base their offices.

Secondly, the idea of overseas companies sacrificing a proportion of
their profit to help local people, although preferred by some, is
absurd because it is the responsibility of local authorities or the
government of that country. They should learn to deal with their
own domestic problems, instead of calling for help from overseas
companies. Furthermore, those organizations have to make money
to . If a part of their revenue is
given to charity groups, for example, to

their priority goal will not be fulfilled, leading to their
retreat and a great loss to the community.

In conclusion, the operation of large enterprises from wealthy
nations in less developed countries naturally sparks several positive
changes in local life, and it is not their obligation to help people
living around.

Word count: 262




ENVIRONMENT

TOPIC: 18-6-2016

Cycling is more environmentally friendly
than other forms of transport.

Why is it not popular in many places?
And how to increase its popularity?

Useful vocabulary:

1.The uncommon use of bicycles: Sy st
dung khéng phé bién cua xe dap

2.To fail to benefit major city dwellers in
particular: Khéng co lgi ich véi nhirng
ngudi séng & thanh phé Ion

3.To eclipse the values of using bicycles
to the environment: Che ldp nhitng gid
tri cda viéc st dung xe dap déi véi méi
truong

4.To be rather impractical to expect
cycling: Khd la phi thuc té dé€ hi vong
moi ngudi sé diing xe dap

5.The use of this environmentally friendly
vehicle: Viéc si dung phuong tién thdn
thién véi maéi truong

6.Monthly green days: Nhitng ngay vi méi
truong hang thdng

7.Form a habit of cycling: Tao thdéi quen

dung xe dap

O ZM

Luyén thi IELTS cam két dau ra

Band 8 Sample
Answer

The unpopularity of using bicycle in numerous places has been
brought into question although there is little doubt about its friendly
effects on the environment compared to cars or airplanes. The
reasons for this are varied and several feasible solutions would be
proposed in the essay below.

There are two main underlying explanations for the uncommon use
of bicycles. Firstly, it would consume a considerable amount of time
to travel by this means of transport, which, according to many,
justifies the price of potential environmental damage caused by
other types of vehicles. This is because it fails to benefit dwellers
of major cities in particular when their pace of working life
would eclipse the values of using bicycles to the environment.
Secondly, modern people are becoming less concerned about the
negative impact that their daily use of cars and public transportation
would inflict on their surroundings. Therefore, it is rather
impractical to expect cycling in cities, or even the countryside.

The government play a vital role in encouraging the use of this
environmentally friendly vehicle. They could conduct monthly
green days that by law require citizens to cycle to work to get
people involved in protecting their environment. In the long term,
such an initiative would help to gradually form a habit of
cycling among occupied individuals. More importantly, propagation
via various means of media along with optional courses about the
advantages of cycling to the environment at schools seem to be
imperative to heighten social awareness of this matter.

In conclusion, cycling, regardless of its positive influences on the
environment, has become a rare picture in the modern world for a
number of reasons; and the government should take immediate
actions to improve this situation.
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TOPIC: 25-6-2016

It is more important for governments to
spend public funds on promoting a healthy
lifestyle than treatment.

Do you agree or disagree?

Useful vocabulary:

1.Human resistance against a vast
number of illnesses: Strc chéng lai rét
nhiéu bénh tat

2.Leading a sedentary lifestyle: cé 16i
séng it véan déng

3.Launch propagation campaigns to
heighten social awareness: Thuc hién
nhitng chién dich tuyén truyén ndng cao
nhdn thuc xd héi

4.The necessity of treatment and the
development of healthcare services: Sy
can thiét cia sy diéu tri va s phdt trién
cua dich vu chdm sdc strc khde

5.No less important and imperative:
khéng kém phén quan trong va cép

bdch

O ZM

Luyén thi IELTS cam két dau ra

Band 8 Sample
Answer

It is said that state money should be better allocated to the
promotion of a healthy lifestyle as a long-term prevention against all
kinds of diseases than treatment for already ill people. In my
opinion, both should be equally funded.

On the one hand, the government should pay attention to promoting
a healthy lifestyle as it is directly linked to
As a matter of fact, the harmful

habit of drinking liquor or chemical dependency are principal causes
for numerous diseases including alcoholism and cancer. Also,
people due to either intense study or
work also suffer from back pain or short-sight. In most cases,
victims are little aware of their daily habits bringing much damage
to their body, or sometimes, students and working people cannot
find a place to exercise. The government’s involvement is therefore
vital as they can

or establish more public facilities such as parks as places
for residents to physically exercise.

On the other hand, similar funding should be provided for
constructing hospitals, modernizing facilities, and experimenting
new medicines. In reality, there are more grave threats from
contagions like Ebola or unexpected accidents on street, which
emphasizes

. Unless more significant amounts of money
were allocated to discovering new cures and improving the quality
of services, there would be more victims and casualties. This is

than promoting a healthy lifestyle.

In conclusion, both of these aforementioned factors should be
equally and simultaneously developed by any governments.
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TOPIC: 9-7-2016

Studies have suggested that children watch
much more television than they did in the
past and spend less time on active or
creative things.

What are the reasons and what measures
should be taken to reduce the time
children spend on watching TV and
encourage children to spend more time on
active or creative things?

Useful vocabulary:
1.High-resolution graphics: Hinh dnh
phdn gidi cao

2.The lack of care as well as
encouragement from parents: Sy thiéu
quan tém ciing nhw khuyén khich tir phu
huynh

3.Restrict the amount of time allowed for
watching TV: Gidi han thoi gian duoc
phép xem phim

4.Resort to drastic measures: Dung dén

nhitng bién phdp quyét liét

O ZM

Luyén thi IELTS cam két dau ra

Band 8 Sample
Answer

It has been observed that watching TV becomes a dominant form of
recreation over other activities that require creativity. My essay
below will analyze some underlying reasons and propose some
feasible solutions to this issue.

There are two major contributors to the situation where children
show a tendency to spend time watching TV rather than creative
activities. The first explanation is that telecasts have been growing
in number as well as quality, which greatly appeals to children at
young age. Compared to the past when most TV channels were in
black and white, or viewers could only switch to a limited number
of programs, nowadays hundreds of channels with

are available on TV. It is therefore understandable why
children choose watching channels like Cartoon Network over other
activities. The second reason is

Busy life has pushed modern

parents away from their kids, and they hardly have time to play with
their children or encourage them to do some healthier activities like
painting. Children, as a consequence, turn to watching TV during
their spare time.

Measures should be taken in order to reduce the time children use to
watch TV. Parents’ guidance are essential since they are closest to
their own children and it is easier for parents to

. Although schools and teachers
can also play a part, fathers and mothers would be far more
persuasive and could such as corporal
punishments if needed. Also of great importance is that they should
spare more time playing with and encouraging their kids to take part
in creative activities. In fact, with enough encouragement, children
would feel motivated and cared for, hence more time spent on active
exercises.

In conclusion, several factors are cited as causes for children’s
propensity for adopting a passive habit of watching TV more than
ever before, and children should be guided and encouraged to do
more creative work.

Word count: 335
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TOPIC: 14-7-2016

Nowadays, it seems that people tend to
waste a great amount of food.

Why do you think this is happening? And
how can we solve this problem?

Useful vocabulary:

1.Have a thorough plan of what they are
going to buy: Cé ké hoach cdn thén vé
nhitng gi ho dinh mua

2.Vague ideas of what meals or
foodstuffs they might consume: Y
twong mo nhat vé bira dn hay thic dn
ma ho dinh tiéu thu

3.Poor choices for their diet: Nhitng Iva
chon té cho ché dé én cua ho

4.Saves a lot of unnecessary food: Tiét

kiém rdt nhiéu thuc phdm khéng cén

thiét

O ZM

Luyén thi IELTS cam két dau ra

Band 8 Sample
Answer

These days, people are buying a lot of food which ends up being
thrown away. The essay below will analyze some major reasons for
this situation, and measures to tackle this problem will be presented.

There are two main explanations why food is being wasted. One of
the reasons food is thrown away is because consumers fail to
before they shop.
Commonly, many people only have
over the next few days, and this
often leads to their shopping carts full of products they might never
use. Secondly, food wastage can occur when people make
. Huge quantities of food remaining unused
might be a sign that consumers’ diets are going undesirably.

Some measures are suggested to mitigate the situation. One effective
solution is to make a list of ingredients and foodstuffs that one is
going to purchase before she goes shopping. This way helps
consumers to have time to prepare and decide wisely what products
should be bought, which eventually

. Furthermore, people should do careful research on reasonable
diets in advance of going to food stores so that they can know what
ingredients are best for their state of health.

In conclusion, poor planning for meals and unwise choices of diet
mainly contribute to the amount of unused food at the moment, and
thorough preparation is key to avoid further food wastage.

Word count: 253




TOPIC: 16-7-2016

In many countries, government spent a
large amount of money on improving
internet access.

Why is it happening and do you think it is
the most appropriate use of government
money?

Useful vocabulary:

1.A huge proportion of national budget:
Mét phdn I6n ngén sdch nha nwdc

2.To dispense educational services and
general knowledge about all aspects of
life: dem dén nhitng djch vu gido duc va
kién thirc chung vé tat cé cdc khia canh
cla cudc séng

3.To pour their money into improving the
Internet: D6 tién vao ndng cdp Internet

4.To be equivalent to the enormous
amount of governmental funding: Can
xttng vdi khéi lwgng kinh phi khéng 16 tir
chinh phd

5.To be used to the absence of the

Quen vdi

Internet: viéc khéng co

Internet

O ZM
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Band 8 Sample
Answer

A huge proportion of national budget is allocated for providing
people with easier access to the Internet. There are several reasons
for such spending and, in my view, this is not the most suitable way
to use state money.

The government understand how the Internet benefits the lives of
their citizens and also the limitation of access to the network in a
number of places across their countries. The Internet has proven
powerful in dispensing educational services and general
knowledge about all aspects of life, not to mention the fact that it
could facilitate communication even between continents. There is no
arguing why governments pay much heed to the development of the
network, just as to boost the overall quality of life for their people.
Additionally, perhaps the inaccessibility of the Internet in many
areas, especially disadvantaged ones for which mountainous villages
in Vietnam could be brought up as a prime example, has the
government draw a conclusion to pour their money into
improving the Internet.

Much as those analyzed points above, I still believe large financial
spending on such a field could, sometimes, be seen as unproductive
or even counter-productive. In fact, only half of the world
population has Internet connection; and even if the government were
able to expand the network, it would be, I believe, hardly reachable
for the rest of the world for the time being. The result would not be
equivalent to the enormous amount of governmental funding.
Instead, there are some other areas that authorities could invest in as
a pre-requisite complement before supplying a widespread network.
Constructing schools and sending qualified teachers to areas that are
used to the absence of the Internet and are unaware of the benefits
it might offer could be more promising.

In conclusion, there are two main explanations for governments’
special attention to improving the Internet access; and I think this is
not the most optimal way to spend money.

Word count: 322




TOPIC: 30-7-2016

Many people say the gap between rich and
poor people is wider, as rich people
become richer and poor people grow
poorer.

What problems could this situation cause
and what measures can be done to address
those problems?

Useful vocabulary:

1.The two classes of society: 2 tong I6p xd
héi

2.To live on the breadline: S6ng nghéo
doi

3.Income inequality: Bdt binh déng thu
nhdp

4.The breeding ground for social unrest
and political instability: Ld noi sén sinh
ra réilogn xé@ héi va bat én chinh tri

5.The onset of social anarchy: Sy bdt dau
ctia s hdn dén trong xd héi

6.To resort to violence and opt for the life
of criminals: Tim dén bao Ilvc va lva
chon con duong tdi pham

7.To reduce the amount of income
inequality in society: Gidm Ilwgng bét
binh déng thu nhdp trong xd héi

8.To place much importance on

individual competence to determine

the amount of money one might earn:

Nhén manh vao khé ndng cd nhén dé

quyét dinh s6 tién ma moét ngudi sé

nhén

O ZM
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Band 8 Sample
Answer

As the world progresses, the gap between the two classes of
society is widened because the rich become wealthier while the poor
are living on the breadline. Such income inequality could lead to
several problems, and some suggestions to improve this situation
will be analyzed in the following essay.

Wealth concentration within a handful of individuals and institutions
might result in two major issues. Firstly, the rich-poor gap could
be the breeding ground for social unrest and political instability.
The poor might perceive that the rich is the principal force of
hindrance to their occupational and service opportunities. This
might be the precursor to discontentment, which potentially is the
onset of social anarchy. Secondly, as poverty restricts the capacity
of the underprivileged to access services and other life-sustaining
matters such as education, employment and medicine, they
might resort to violence and opt for the life of criminals.

There are several initiatives to reduce economic inequality,
including progressive taxation and minimum salary legislation.
Higher taxes should be levied on the rich, which could reduce the
amount of income inequality in society. On the other hand,
governments could use this money to supply free goods and services
for those who struggle to make a living. Also of great importance is
the increase in the minimum earnings of the poorest workers.
Although it cannot be denied that the current system places much
importance on individual competence to determine the amount
of money one might earn, unskilled workforce who usually are
from the lower class should be, still, provided enough to live
sufficiently.

In conclusion, chaos and the acceleration of crime rates are the two
severe repercussions of the unequal distribution of wealth; and
governments could impose heavy taxes on the rich and heighten the
minimum amount of salary for the disadvantaged.

Word count: 298
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TOPIC: 4-8-2016

In many countries, people now wear
Western clothes (suits, jeans) rather than
traditional clothing.

Why? Is this a positive or
development?

negative

Useful vocabulary:

1.Influential cultures: Nhing nén vin héa
¢6 anh hwong Ién

2.The notion of modernism in terms of
dressing: Y niém vé cdch dn mdc hién
dai

3.Reshapes fashion patterns of the
indigenous: Dinh hinh lgi cach dn mdc
cua ngudi ban xur

4.The age of globalization: Thoi dai toan
cdu héa

5.Underestimate the value and meaning
of their traditional clothes: Coi thuong
gid tri va y nghia cda quén do truyén

théng

ZIM

Luyén thi IELTS cam két dau ra

&

Band 8 Sample
Answer

In many parts of the world, many people prefer Western fashion
styles than their traditional clothes. The underlying reasons for this
are varied; and this could be seen as both negative and positive.

There are two main explanations for the popularity of suits and jeans
even in non-Western countries across different continents. Firstly,
Western clothing has become widely known for the recent advent of
the mass media like TV or global newspapers. In fact,

, especially

, from the West has become dominant in other nations.
Secondly, the transcontinental expansion of powerful Western-based
corporations is another contributor to the preference for this so-
called modern dressing style. Those organizations usually require
their local staff to wear dress shirts and pants to work, which
gradually

This choice of fashion could do both harm and good. On the positive
side, it helps people integrate into the global working environment,
which is essential in where different
cultures cross. On the other hand, if such preference became
excessively prevalent, there would be a good reason for the worry of
cultural assimilation. Some people, the young generation in
particular, might

, the Ao Dai in Vietnam for example.

In conclusion, the widespread adoption of Western clothing could be
attributable to the mass media and the appearance of a handful of
national companies; and this phenomenon is positive and negative at
the same time.

Word count: 253




TOPIC: 27-8-2016

advancement of

With the rapid
communication technology, eg smart
phones, tablets and other mobile devices,
some people believe that the
disadvantages outweigh the advantages.
To what extent do you agree or disagree?

Useful vocabulary:

1.Empowered people to conveniently

keep in touch with friends and
relatives: Giup con ngudi cé thé gitr lién
lac vdi ban bé va nguoi thdn mét cdch
tién loi

2.The ability to effectively interact with
each other: Khd ndng twong tdc hiéu
qud védi nhau

3.Refrain from using new appealing
applications and games: Kiém ché s
dung nhitng trng dung va tro choi thua vi

4.Too engrossed in their games: qud ddm

chim vao viéc choi game

ZIM
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Band 8 Sample
Answer

Recently, the advent and popularity of cutting-edge communication
technology has unfolded the possibility of connecting people from
different places around the world, which engenders public opposing
ideas of whether the drawbacks of such devices would eclipse the
benefits. In my opinion, I completely agree with that statement.

Still, there are certainly several values that new lines of mobile
phones and tablets bring to users. Firstly, those are considered a
powerful facilitator of communication. In fact, many breakthroughs
in the industry of technology, such as the introduction of I-phone,
have

regardless of geographic adversities.
Secondly, such technological development is a threshold of a new
world where people are connected in a global network, which
provides them with opportunities to meet people of diverse
backgrounds and personalities. Compared to the past, modern
people now could easily get to know people, even trans-

continentally, with only a small device such as a cell phone.

However, 1 suppose that the repercussions of this advancement
should be paid more attention to. As people rely too much on tablets
or mobile phones, there would be a high chance of them losing
in real life. More
dangerously, addiction and aggression might be the price that people
had to pay if they did not
. Unfortunately, many incidents resulting in
a few casualties have been reported when players are
, especially after the release of Pokemon-Go. This
might be a strong basis for the belief that those devices would do
more harm than good.

In conclusion, I believe that the downsides of contemporary
technological development might be more significant than the
benefits.

Word count: 293




TOPIC: 10-9-2016

Some people think studying from the past
offers no benefits to today's life, while
others believe that history is a valuable
source of information for us.

Discuss both views and give our own
opinion.

Useful vocabulary:

1.brings no relevant values to the
present or future: Khéng dem lai gid tri
thuc tién cho hién tai va tuong lai

2.no guarantee of the accuracy of
information obtained: Khéng cé gi dédm
béo vé su chinh xdc cla théng tin

3.thorough insights into their own

culture and how their country has

evolved: Kién thurc cu thé vé vidn hda va

nudc nha da tién héa nhu thé ndo

4.develop their patriotism and pride:

Phdt trién long yéu nuwdc va su tw hao

O ZM

Luyén thi IELTS cam két ddu ra

Band 8 Sample
Answer

There are different opinions about the role of history in our present
life. While a lot of people insist that there would be nothing to gain
from doing research on what happened in the past, I suppose history
does teach us precious lessons.

On the one hand, I understand why some people think it is pointless
to learn from the past. First, history is the field that is rarely used in
people’s lives, and therefore, they would rather pay attention to
science or technology than focus on something that
. Second, each historical

event is interpreted differently based on different facts and
perspectives, so there is

. If, in many cases, historical documents were
falsified, it would cause tremendous damage to people’s culture and
religion.

On the other hand, I would argue that studying from past events is
essential for two principal reasons. History helps young people have

This is particularly true in case of Vietnam. The youth
need to understand how their ancestors defended the nation against
intruders throughout many dynasties and maintain a sovereign and
free country, which would .
Furthermore, history depicts the mistakes made in the past, hence
helping people to avoid similar ones in the future.

In conclusion, acquiring knowledge about historical events,
although redundant according to some, seems to be of great value to

me.

Word count: 252




TOPIC: 15-9-2016

Research has shown that overeating is as
harmful as smoking. Therefore, the
advertising of certain food products should
be banned in the same way as the
advertising of cigarettes is banned.

Do you agree or disagree?

Useful vocabulary:

1.A detriment to people’s health
conditions: Diéu gdy hai cho sitrc khde
con nguoi

2.Excessive food intake: Lugng thirc dn
vdo qud nhiéu

3.Numerous health-related problems:
Nhiéu vén dé lién quan dén strc khée

4.Approach prospective customers: Tiép
cdn khdch hang tiém ndng

5.Their profit declines as a result of this
prohibition policy: Lgi nhudn gigm vi

cdm sdch nay

O ZM

Luyén thi IELTS cam két dau ra

Band 8 Sample
Answer

It is claimed that overeating causes similar damage to human health
just like smoking, so it is necessary to implement prohibition of
advertisements for both some food products and smoking. In my
opinion, the former view is well-founded, yet the latter seems to be
rather unreasonable.

It is totally understandable that consuming an unnecessarily large
amount of food is just
increases body fat,

potentially resulting in obesity. In recent years, the number of obese

like smoking is. In fact,

people has been constantly growing at an unprecedented rate in
consequence of overeating. Furthermore, consuming unhealthy food
such as fast food or processed food on regular basis also brings
about such as blood pressure
or high cholesterol. Issues regarding people’s state of health caused
by eating too much are for sure comparable with those caused by

smoking, lung cancer for example.

However, 1 do not think it is an effective solution to forbid
advertisements for several particular foodstuffs. It is unfair to
manufacturers because advertising is their main measure to
and to introduce their new
products in the market. Without publicity materials, many food
manufacturers would experience crises as
. Furthermore, it is a disadvantage
to consumers because they will not be informed about products they
want to buy. It is true that advertising encourages people to purchase
things but it only plays a small part in the amount of food intake
which is mainly determined by consumers themselves.

In conclusion, I agree that the way overeating harms human health is
similar to smoking, whereas it seems to me that advertising of food
products should not be banned.

Word count: 291
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Governments across continents have turned their attention to more
sustainable sources of energy as alternatives to fossil fuels. In my
opinion, this could be seen as a progress for the following reasons.

First, there is no arguing that producing energy from buried dead
organisms lacks sustainability, which means such production could
Fossil fuel is the main source of energy. In  not guarantee the survival of humans in the long term. In fact, the
some countries, the use of alternative  consumption of energy generated from fossil fuels tends to

TOPIC: 24-9-2016

sources of energy is encouraged. accelerate in direct correlation with the growth of the world
To what extent do you think is it a positive population. With , this valuable
or negative development? resource would dwindle away in no time, leaving no other choices
than seeking additional reserves such as nuclear power or
Useful vocabulary: .. . .
hydroelectricity. This is a safe solution to the fear of
1.The current rate of exploitation: Téc d6 and ensures

khai thdc hién nay

2.Energy scarcity: Khan hiém ndng lwvong  Second, dependence on fossil fuel for worldwide energy supply

3.The future development of the human  would cause while using solar power,

race: S phdt trién trong twong lai cda 10T example, is considered an ultimate choice of energy

_ conservation. is the culprit of
loai nguoi

greenhouse gas emission and other air pollutants, leading to
tremendous damage to the environment. Such suffering of the Earth
héa cia méi truong could not be justified by the growing need of humans. By contrast,
5.The combustion of fossil fuels: Sw @6t  this would never be the case when it comes to other alternatives as
mentioned above. If governments continue to invest in exploiting
those new sources, there will be
on the long run.

4.Environmental degradation: Sy thodi

chdy ndng lwgng hoa thach
6.An unlimited amount of inexpensive
energy: M6t lwong bét tan ndng luong

ré
In conclusion, I believe that the use of other potential energy sources
to replace fossil fuel is obviously an important step forward.

Word count: 260
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TOPIC: 8-10-2016

Some people think that men and women
have different qualities. Therefore, some
certain jobs are suitable for men and some
jobs are suitable for women.

To what extent do you agree or disagree?

Useful vocabulary:

1.Disparities in the types of job
compatible for males or females: sy
phdn biét trong logi céng viéc tuong
thich vdi dan éng va phu ni¢

2.Distinct physical and mental strengths:
Nhitng diém manh khdc biét vé thé chét
va tinh than

3.The distribution of the types of jobs
among the two sexes: Su’ phdn b6 cdc
logi céng viéc giita nhitng nguoi khdc
gidi

4.0ccupational compatibility regarding
gender: Sy twong thich nghé nghiép
dva trén gidi tinh

5.Great versatility in various jobs: Khd
ndng cé thé dém nhiém tét nhiéu logi
cong viéc

6.Both brains and brawn: Cé tri ndo lan
thé chét

7.Gender-specific career pursuit: Sy theo
dubi nghé nghiép tuy theo gidi tinh (tam
dich...)

8.The aforementioned disparity in job
selection: Sy phdn biét trong viéc chon
Iwa nganh nghé vira dé cdp dén & trén

O ZM
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Band 8 Sample
Answer

It is thought that there are disparities in the types of job
compatible for males or females owing to their distinct physical
and mental strengths. Although occupational suitability based on
gender is justifiable to some degree, reality, in my opinion, has
proven otherwise.

On the one hand, it would be absurd to ignore the fact that jobs
which require tremendous physical strength and agility such as
mining feature male labor. Women, meanwhile, are assumed to be
better at tasks that take great patience as well as skills to perform
like household chores. In fact, a majority of men and women could
not exchange their preferred fields of expertise, which is a strong
reason for the distribution of the types of jobs among the two
sexes.

On the other hand, I still believe there should not be any specific
rules for occupational compatibility regarding gender. A lot of
men are growing more interested in taking responsibilities for
childcare and housework which are typically considered feminine.
Women, by contrast, are showing great versatility in various
jobs, even those demanding both brains and brawn. Female
gymnasts have been increasing in number; and nobody can deny that
mental and physical perseverance are fundamental for gymnastics.
In addition, women’s social status has been improved thanks to the
success of world-class businesswomen and politicians, Hillary
Clinton for example. This is a plain proof against the belief
of gender-specific career pursuit.

In conclusion, while there is still some truth to the aforementioned
disparity in job selection, I think men and women are now equal in
terms of such an aspect.

Word count: 263




TOPIC: 22-10-2016

Some people think that everyone has the
right to have access to university
education, and that governments should
make it free for all students no matter
what financial background they have.

To what extent do you agree or disagree
with this opinion.

Useful vocabulary:

1.Acquire tertiary degrees: LGy bdng dai
hoc

2.Equal in intelligence and scholastic
capability: Giéng nhau vé tri tué ciing
nhw khé néng hoc vén

3.Providing free tertiary education: Cung
cdp gido duc dai hoc mién phi

4.Exerts a fairly significant impact on
how each student interacts with

teachers and their peers: C6 dnh hudng

khd ddng k& dén viéc tirng hoc sinh

twong tdc vdi nhau ciing nhw vdi thay cé

nhw thé nao.

O ZM
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Answer

It is thought that studying at university is everyone’s right, and all
tuition fees should be fully paid by the government. The former
view is reasonable, however, I disagree that the government should
take responsibility for students’ university education fees.

I believe every student is entitled to go to college to

. It is because, from my point of view, knowledge
gained at university should be freely imparted to everyone.
Furthermore, all students, although different
backgrounds, are ,

in financial

hence equal opportunities to gain admittance to university.

However, the government are under no obligation to take care of
university attenders’ education costs.

might either push the government to the verge of
bankruptcy or levy higher taxes on citizens because the costs for the
government to maintain facilities or employ qualified teachers are
certainly exorbitant. Additionally, education quality would also
suffer owing to the increased number of students in one class, which
prevents teachers from giving out thorough care for everyone. In
fact, class size also

. If there are too

many members in one class, they will be afraid to ask questions, for
example, which leads to their poor performance at university.

In conclusion, while I agree that it is everyone’s right to pursue
tertiary education, it seems to me that the government should not
fully pay for study costs. So far, there have been ample
opportunities for scholarships or exemptions; and I think that is the
best method to support students.

Word count: 268




TOPIC: 5-11-2016

Some people believe that living in big cities
is becoming more difficult. Others believe
that it is getting easier.

Discuss both views and give your own
opinion.

Useful vocabulary:

1.Not only population explosion but also
migration from the countryside: Khéng
chi bling né dén sé ma con di cu tir néng
thén

2.Public transportation overload: Hién
trang qua tdi phwong tién giao théng
cong cong

3.Adequate employment opportunities:
Ddy du co hdi nghé nghiép

4.Find a decent profession equivalent to
their qualifications and competence:
Tim dwoc mét nganh tét xiing vdi bdng

cép va khé ndng

O ZM
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Band 8 Sample
Answer

It is often argued that life in major urban areas has become much of
a challenge. Although there is some truth to that statement, I think
qualities of life in cities have made it easier for residents in terms of
educational opportunities and career prospects.

On the one hand, there are two principal reasons why some people
find it difficult to live in a metropolis. First, space of living is
becoming more and more limited in many major cities, such as
London. Such overcrowding, which can be attributable to

makes it uncomfortable for residents in many terms,

for example. Second, crime rates have
been accelerating for the past few years in urban areas; and this is a
tremendous detriment to the life and safety of city dwellers.

On the other hand, I would side with those who suppose living in
cities is easier than ever before. To begin with, access to higher
quality education has been largely dispensed, resulting in skilled
workforce. In fact, more institutions and schools have come into
being recently, with teachers carefully trained and facilities greatly
modernized, to provide students with the best
Furthermore, the non-stop progress of the economy is the foundation

education.

of . Despite significant
competitiveness in the job market, people can still

making their lives less stressful.

In conclusion, it seems to me that it is more comfortable to live in a
big city owing to advanced
employment opportunities.

and more

education systems

Word count: 266




TOPIC: 26-11-2016

Advertisements are becoming more and
more common in everyday life.

Is it a positive or negative development?

Useful vocabulary:

1. Details about newly launched products:
Théng tin chi tiét vé nhitng sdn pham
m&i dugc cong bd

2. Commercialize  their = commodities:
Thuwong mai héa san pham

3. Publicity materials: Nghia |a nhitng th&
giup cho mét san pham méi dwoc ngudi
khac biét dén (tam dich)

4. Approach prospective customers: Tiép
can vai khach hang tiém nang

5. To be bombarded with all kinds of
advertisements: Bi “bd bom” bdi dd cac
thé loai quang céo

6. Information overload: Qua tai thong tin

7. Stimulate people to purchase products
that are being advertised: Kich thich
moi ngwoi mua hang hdéa dang duoc

quang céo.

O ZM
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Band 8 Sample

The development of businesses has given rise to the growing
number of advertisements that can be seen anywhere, on streets or in
the media. In my opinion, this phenomenon could be both positive

and negative.

On the one hand, advertising has brought a number of benefits for
not only consumers but also businesses. Certainly, advertising
provides , which is
important for consumers who are still unaware of such products. In
fact, improving quality alone would be less effective if producers
failed to . Furthermore,
companies, entrepreneurs for example, spend a great deal of money
on in order to

. This, in return, generates higher profit and enhances

those companies’ competitiveness in the market.

On the other hand, the surge in quantities of commercials exerts
several undesirable impacts on customers. First, instead of being
well-informed about a new line of product, people are
. Those can be either
deceptive or annoying; and such has become
a nuisance to many people, particularly when their favorite telecasts
are constantly interrupted by irrelevant promotions. Second,
advertising encourages people to purchase what they do not really
need. Images of celebrities are used in many extravagant
commercials, especially cosmetics, to
. However, in reality, most of

those products are of little use to buyers.

In conclusion, advertisements of various types have become
prevalent in modern society; and this is, in my view, advantageous

and detrimental as well.

Word count: 261




TOPIC: 3-12-2016

International travel has many advantages
to both travelers and the country visited.

Do you think advantages outweigh
disadvantages?

Useful vocabulary:

1. Travel expenses: Chi phi du lich

2. Famous tourist destinations: Diém dén
du lich néi tiéng

3. Complicated and tedious prerequisite
procedures: Céng doan bdt budéc nham
chan va phuec tap

4. Lay much pressure on local people: bgt
nhiéu ép luc 1én ngudi dén trong viing

5. A detriment to domestic travel: Ngdn
can du lich trong nuéc

6. Costs of hotel rooms and other
services: Gid cd cua phong khdch san va
nhitng logi dich vu khdc

7. Numbers of fascinating experiences of
exotic cuisine and culture: Nhiéu trdi
nghiém thu vi vé thuc phdm va vdn héa
xa lg

8. Enhance tourism industries: Phdt trién

nganh du lich

O ZM
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Band 8 Sample
Answer

Travelling abroad certainly exerts several positive influences on
tourists as well as the host country. Although there are still
drawbacks of international travel, I think its values are more
significant.

On the one hand, the downsides of welcoming foreign visitors are
varied. Regarding tourists themselves, in
, Venice for example, are expensive, and there
are many such
as visa application or plane ticket reservation. As for the countries
that play host to international tourists, the rise in costs of living may
and be
. This is because the growth in the number of
tourists from abroad would encourage
to increase. People in the neighborhood and domestic
visitors would suffer in comparison.

On the other hand, I suppose the benefits of international travel
would eclipse those analyzed disadvantages. First, travelers can
have

, and they get to see places they have not seen before. A
typical example of this is when tourists from other countries come to
Vietnam, they would have the opportunity to use chopsticks, enjoy
traditional meals and go sightseeing in the countryside. Second, the
increased number of foreign people coming to visit another country
would evidently , contributing greatly
to the wealth of that country. If tourists enjoy their trips, they will
recommend the destination to their friends or perhaps they will
come back in the future.

In conclusion, it appears to me that the merits of international
tourism are more notable than its drawbacks.

Word count: 272
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ENTERTAINMENT

There have been arguments over the possible impacts that computer
and electronic games might *on the young. Although there is some
truth to the belief that playing games on computers and other
electronic devices enhances certain skills, I would side with those
who think playing such games is a waste of time.

TOPIC: 17-12-2016

On the one hand, there are several reasons why some people
consider video games as a tool to sharpen some important skills.
First, many games, such as science or puzzle games, stimulate
young players’ brains and sensitivity, which gives those players an

Some people think that young people can
learn useful skills by playing electronic and
computer games. Others argue that people
who play electronic and computer games

are wasting their time.
Discuss both views and give your opinion.

Useful vocabulary:

1.Sharpen some important skills: Mai
gilia mot s6 ki ndng quan trong

2.Cultivate their creativity and problem
solving skills: Phat trién sy sdng tao va
kha nang gidi quyét van dé

3.Tremendous focus and extremely fast
reflexes: Sy tap trung cao d6 va phan
Xa cuc nhanh

4.This form of entertainment is a grave
detriment: Loai hinh giai tri nay 1a sy
gay hai

5.Players are exposed to them on a
frequent basis: Ngudi choi tiép xuc
v&i game thuong xuyén

6.Healthy, educational and less time-
consuming options: Nhirng su lua
chon lanh manh, mang tinh gido duc

va it tén thoi gian hon

opportunity to cultivate their creativity and problem solving
skills. Second, people argue that shooting games, like Counter
Strike, require tremendous focus and extremely fast reflexes to
complete stages in those games. With reflexes and concentration
capability improved, players can demonstrate more effectively daily
task which specifically require those enhanced skills.

On the other hand, I would argue that spending time on video games
is a waste regardless of the possibility of skill development they
might offer. Young people are supposed to study properly either at
school or at home, to which this form of entertainment is a grave
detriment. Those types of games are fun; however, they are
addictive at the same time. An excessive amount of time would be
used for games if players are exposed to them on a frequent
basis. This, consequently, results in the reduction of time for study,
which should be people’s top priority at their age. Furthermore,
skills sharpened by computer and electronic games can also be
acquired by a number of other healthy, educational and less time-
consuming options, such as reading books or participating in sport
clubs.

In conclusion, it seems to me that having a few skills enhanced by
playing video games cannot justify the fact that it is a waste of time.
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